UYGULAMA -]

1. Asagidaki carpma islemlerinin sonuglarini yaziniz.

a.5x10 = b. 36 x 10 = c. 127 x 10 =
d.5x 100 = e. 42x 100 = f. 412 x 100 =
g. 7 x 1000 = h.19x 100 = 1. 444 x 1000 =
i. 3000 x 5 = j. 4000 x 12 = k. 2000 x 135 =
.40 x 20 = m. 60 x 700 = n. 90 x 600 =
0. 104 x 30 = 6. 207 x40 = p. 102 x 80 =
r. 46 x 4000 = s. 143 x 6000 = $. 417 x 8000 =
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2. Asagidaki bélme islemlerinin sonuclarini yaziniz.

a.56 000 + 10 = b. 56 000 + 100 = €. 56 000 + 1000 =

d. 97000 + 10 = e. 97 000 + 100 = f. 97 000 + 1000 =

g. 124000 + 10 = h. 124 000 + 100 = 1. 124 000 + 1000 =

i. 6000 + 20 = j- 8000 + 40 = k. 7500 + 30 =

1. 5000 + 100 = m. 4500 + 150 = n. 8000 + 200 =
0.48 000 + 20 = 6.33300 + 1110 = p. 560 + 80 =

r. 624 000 + 2000 = s. 965 000 + 500 = s. 488 000 =+ 8000 =

Uygulama - 1'in
cevap anahtarina
ulasmak icin
karekodu okutunuz.
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